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MATHEMATICS

(n 4n cri fiTqtq E

(iD W l{r qr il ed 30 r'rl t iit qR sqi'3t !' ! dr ,<

-.?rq r'.09q EE !,d,t r c.t@.cn3
10 lll {iI Eve ? iiE sr 3fii iri 5 lrr i

(iiD sDc al d $rit ltii 6r rtr{ rfi rI< q q,@ qr cpr d q!,r!j fi4rx-dr$nr ? }r
(iO llr (, il o1l {qrr {Ns ftrcr Tfi i nqrh !r $ai lli 16 sFr ii dr 3i'rii irn fir

q{d i dqi E: sid qrd d !r=il il sridttf ft.ar",i id-i ,ri tl Arfl {} lFi ,i arij;r
;rd f6 ft_rd 3 oqfl t

(,, lrFr Ed srr i qdqr t{{ Et 3ik fiq,ri qrn d fijlrr 3rT{q dr
(v0 d.d{ier d cfi,r d 3rjqft Tff i I

(!ii) !?r rl.r 1i nnq dfurl iit n;n 6 ord qr{rt cr n.-r I 3rd El w w itqq -," r

(i) rll qls{ions iie comp' lniry
(ii) Th. quciloi 0rp.r cotr,ils ofl0 qrc{iotrs Llividcd i'rr tou secrim\

'D. Setrnnr'A c.nrpn.r of r$ qucriotrs otI Mrk cilLl scrrior,8.
qncsriom of 2 nn s rrli. S.dion ,a .otr\ntscs .t.rcf qusttons ot
s.crior,D'co'npriscsor ivcqrcsiiNor6Drrtscxrh

(iii) ,^n qEs jol n S.crion \' mc b b. r\$od i'r otr. \o,d or srrcr..
r{unonc olrlfqmni()1.

(n) l.llcrciimorcnllrhol!(.no\.\!r-i'n.rrt't.rt!r rJ\b,,.nDr\idoninoN!,rii\trrd l
nwki thrc qrcnlons oar nfls r.{h id r\. tln-riL)r\ ol 6 nrnk\ Mrh \ L hr\. r,
r.D onlyor dt'rho rtrcn4nds in r[ nrn qrclnnn.

l\1 lr q.nions tr .on$ndiL LtrnNins slnLtd bc nor un c\Nlr

(vi) Use.l.rlcul{drn nor prniLr(1.
(ri) SLm liunrh lrn que$iitr rnd rr(ncJ orlru tar

*hich yotr.mnol $lve.
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q gRr 1ige *i irff w M qjr

Wnte rhe codilion ro be satis6.!

( sfcTIoN- A')

ii@ ftflrd ldi qRts riEqr ! aI

by q, so lnar a Btionat nunber I
<.TrFfq nrR 3mifr sraff B 1

h6 nonreminarine reFaring

010
t0 20
:0 30 2t)

l5

, fr, i {6q< bG) d fi\, / = p1'; or *o 1iu tt
!G) 6 {ardr ?n dg1 nn dtur I

fie sraph ory = F(,) h sivm in n8rc for polFomial
b('). Find the nunb€r orzrces bf p(r)

r. EqaB+fllr 1. 2s=o+{rnndful
Find dre tuolr itquadnhc equarion r: - 25 = O.

a lid Bqrdr M (A p ) sr iri qs p si) t iq M or d{qi qd nrn a1fuq
Ihe n'! tem or^.! is(9 5n).Findiis50 rem

5. 

-4lqFi 

n 611fr0

Frrd Lie valueot 

-6 t,, t, {ip " oi-t Ee{. q,pA "flpBtrl "zn
q{{qr 30. + 6ir !1 {fr t dr z}oA or qir $n dii!
In 6e 6glrc, t.ngcnls PA and PB 6oDa poi.r! roa srictc wiih cc.ke
O aE i.clined to ca.h orh$ ar anAlcoI80,'.lhcn frnd dE vatuo oaZpOA

z IABC i AB = 6v5cn,Bc = 6cm ftl] zB = 90. ttAC ol qE inn dliv
In AABC, AB = 6irch, Bc = 6m and ZB = 90.. Fird thevatueorA.

3 sR go arlgr or om ta r)di t ii afta 6r qRmq s]n d&\. I

Illhe dioed of a cdni ciEle is 14cm, thcn tud irspenneb.

e lii q dRarKr {.r FrM t x nqt ! d {n nro dht
Wdle lhe vrlrs of! md y 60r nie giye. Iiequelc,y distriburon rable.
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,0 rr llr.'ri -.n- jhi,{itd{ s-d?,a " r" ra6-ar @,r+ r {Eec'Iqfi A ffi lMr 'E,i< 614 TS I
A b€s conrEids s black 7 red ed 3 white balh. A bal is dlawn dt redoD fio6 fie bas. Wr* isprobalihy rtai th€ batl dawn is not l,l,.k

!F<-?
(sEcTtoN iBi)

rl. x d ftr_s cn d frrl Fq 1fu6 s4r{,iiS Tcd 3rcRfintq n 3t6 Fd d,t ?
For *hal valuc ofK yiu be ihe foltowinE pair ol linear equations haw i.rribly @y solutjoN ?

4r + 5r,:0
KI+10,=0

12 ftqErt fh

13 ftr'€ dfu F4 ffd (0,0),(5 . , nln ( j,5) {d qrotot qraiE Eld d fi I 2
Prore thal thc Dojnts (o , 0), (s , 5) and (-5 , 5) ,e the veric* of a nghr anEtcd isceles [iahsle

14. il 1]qsc B,ls't Asc dR paR d eirsiii6r qlqrd 16:25 t. q& Bc _6.a d{, aRddE(e'd rh
Ar_ss olrwo limite ftio8les ASC md peR Te in rhe Blio 16:25, ifBC:64 cb,,.Dd lhe tensr;

rE. 16 lrfr 6l 16 irn +6r wdr t Fl]riifuir o1 ql( fii d crfufnr Frd rini! ,
(i) r 3rh a d #s ftld +{ +i@r
(ii)rf frlq 6@r
A dice is ihmsn oncc Find
(i) a nunbtr lyins benvoen

lFrqt (oR)

Td +A i t0 Bs i. fui !i t$20mdMitfunttqft

to 20. If om disc h diam at mdon hom ihe

stt itl i * rr E-q qE*nIlMl qrfi 3. isdi ,Ifurdr n dfuI fti w Es !1 $fun +{r I

O i i liqrq f6 rieqr
A box conbins 20 dircs which aie numberdd liom I
bor, lhd rhe pbb,bilitf rhar ir be4 :(i) a perrecr slEc nu,ber
(,, a.umber divisible by 3

231 (HAG) t3l I Tum Over



!q' - rtr
( sEcrroN -,o )

fud iifuc fd 2 - J5 c6 $qftiq {iql t
P.o!e rhal 2 - !6 is on imlional nmb€r

ftr.g ?qrjr rdialq - ufi n6 Bo' ru 255,h HeF s6 ni?' f, +7 rrd tcv eF
dtu{ I

Using Euclid's Division Algoritio, frd rhe HCF oI86? qd 25J ald rieh lDd lhen LCM.

17 4(E{ 13 -h+6d 3r;q s{i {qr Frd dfo. sii iF6r \16 {q6 I i 3

Obhin all olher zes ofpoly.omiat 13 - 7: + 6, if one ofib zeroes is l.

1s. sfi:6{!it 5r+3r, = 6ry 3ln 2r+ay= s,y al t&6 s&owf d g.q i €d 6rEddfu{t 3

Solve tne cqutio8 6a + 3y = 6r, d 2, + 4y = lxy, by t.ducing rh@ lo a pair of linee

1s. fint sqi M (A.p.) 6r nelc ci s, sih{ s( 62 sik q{i 6r rir 2lo i {ir d dw & sr{
3id{ $( d&{ I

Tte 6nr tem olA P is 8, de last tem is 62 dd ihe sm ofrm is2l0. Fin'i $e 
"mber 

of tems
dd 0E cohmm difl€mc

,o 1t< qJituc 6 |

tu< ilb\ ft' , 
=r" a*."" A

qil|ll (oR)

21. ki3f A (-2, 2) dF B (2, 8) ot ffi srd isTsrs as 6t llr {{rdr qriit q hnfqd 6d
fq3i d ftfttr Frn dFq
rind {t *ordiules oftne loinls wnid divid€ tle Iine ssbdtjoinins A (-2, 2) a.d B (2, 3l

,r. q& 1ig (m, 3), 16, 2) 3r1{ ( 3, al {16 d d n 6r qrr qrd dftI
Find lne value of n ifpoints (b.3), (6, -2) ud( 3,4) G collitrr.

,3 tu{ dftl1 ft arfl ftg t {tr q{ e+ 'd it E.tt tsl3il d dur+fr fl?{ dfi t
P@w tut tne knglhs of hlo lrnge.ts dEvn fion u extemal poinr b . ctcle aft eqMl

21 rd 1i5i ABc fiE\. frr{E AB=5 tS. Bc:7 tff, ZABC=50" +l ftir V6 3rq BTq

d&{, ftrsd Tnt a 
^Bc 

d {rlrn TiEil d: T4 it
Daw a rriangle ABC vith side AB=5 cn, BCJ cr4 ZABC:slf. Then constut @tier danslc

whos sidcs ae: does lne codesdndins sides or 
^ 

ABc.

PDre 6al :

srd

3
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,s fu, i o +{ ird !tr + rf TEqrtyr opBa d GF{fl 16 q'f oAac rrl $in t e
qft oA=20 M i. srqiffid qrr 6' d_rsa Frd dfuC (tr = 3.1a diM)
In the adjoilinE isure, a squ@ OABC is inscribsd in a +adrdr OPBQ ofa
circle ol cenbr O. IIOA-20 cq find &e ma ollhe sbaded regio., (useu = 3,14)

6FRI (OR)

h { a: }a ".q } !T {, i \6 ?drotr< oAps 6r. r,l f I'rEUr rq t:o'i ,an4E oals d oFqlq 4 ${+d
-rd dihi\. ('=4?) a
ln the a'ljoining ngure a sc$or OA?B i. ctrt fton a cncE of mdius 42 cn.
T1rc angle ollnc sccror isr 20n. Fi'd Lte perirreler and area of sector OAPB.

EEg ?
( sEc-rIoN_.D! )

26 <r fir.rd qrrffd wlk FR Eilt\. li.rd s.il sr q)n 36s d
Iind No consccntive positire integc6, sum .l whose squms is 365.

t Turn over

\6 srl{d 6r rrFa e a{ ror{ 6{ ;} flir i qli Esd 
"lEri 

s {o.{ 6q 61 4 Grd t 3ff{ *gr{
3 atrr{ {dr {i qrff t qli aqd ai I a6ri iiis # 6t , tfiri {dr i' d drcrd 67 !,t {6rl
{d ir I 3aln fr iEil ar lrsd nrd dli! |
'I]r. irca ol, r*ldngle geB educed by 9 sqMrc hib, il its lens$ is rcduced by 5 unih flnl bEadL\
is in!rc$ed by I uib llwc i'rcreose the lenAd by I uniA lnd rhc breadth by 2 unirs, rhc arca
iucreascs by 67 sq uare un ils. Find tie lcn8Ih and btuadth o l r.dan8 lc.

r/ 1t @ t"+ i i F oJ ,r- ar J-zl lt ^u' t ) 16.9 d^ n-, " sliF rr;rer i-o

rrdh qii s-d i Em onful
thcanElcoleleldionol oeroplanc from a Doinl
dr xnsle olelevarion chilges ro 300 If nerophn.
intl tlE spcld ol aemplme in km pcr hour

2s aMar q4a 
"qr 

t ?

r.ir6r r0' ii n r t qli a4ri sdrq l500v5 ffo d Ftrd iiiri qr s9 1<r i nt E:n{ q$s d

on lnc grou is 60r. Arier!lliahr of 1i lccon'ls,
is nyi,e al a.oneant LrerSnr.f l500Ja m, rhcn

ft, i BL 3fu cM rfr rr6tq ltq asc dt flffii t ncll w fuls ar oir A nffir,r t l
tuq o1tui ft

,l (BL:+ cM1:5 Bcl
U hat is BaudhayE Thcoren ?

ln ligurc, BL rnd CM de medians ol a lrion8lc ABC righl rnglcd ,r

231 (HBG) t5i



qft H] B[d d 16 lqr d s{ifl lf,q <l TdBit 6t fti ft{ 1i<q] 11 nfrd( fli A fur rd
dsrflttsr frff BE il R{q lifu fd i qq i\ gdr( \6 A sjrm it ffiqn

iT qiq or qql,r o*i ad dfuq
A ABc i DE iBc e, sfi aD -4, At = 3. DB:r - 4 3ik Ec = lr -

lf a line is dE* n pddldl io one side ol a tasnsld !o inlcGcd thc olher
hro sidcs in distincr poinl!, rhen pnvc th.t rh. othd iwo sides aE

Usins rhe abovc rhmrem solve :

I.AABC,DEI BC,ifAD=4.AE:3.D8::-4andEC=3x-19.Findfienlueoir.

2e Ttr ffin hwl 1.5 +ff rd {fi rig a onqrE 6r i. dr 3dt ker ara sd o 'ird 
,{ 3rtnriiin i r {s

Mi dr qq,l dq{ 15 5 +4 irss Mii 6r sq"t ISq drrFd q 3nqf,r Era dlfrl1r (r = I 6

A roy G i. rhe lom olo cone oa Edius 3,5 cnr nounled o. a hc6isphcrc ol s.nrc ndius. nrc roul

heighr of tbc roy k I5 5 om, Find the tlral surfrce rrca and volllmc ofire by. (r = I

30 Fq siard 6r {.rfi drd dfui :

Find Ihs mode for lollowing dah :

515

231 (HBG) t6t
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MATHEMATICS

Hq{ n) flrn qel riafi! i
tii) asI1r,r,i{ammrid qE!.it 3, .q. v 3ft ? i

fr 116 3is 1rd 10 q$ src d il <l it 3m lrt s q:r, sl3 V
crr $i ErE ? i 6 B, ri6 sri 5 !,{r ll

+i S{ ir s"s 3l'i

(iii) &-c 'q' d {ri xFil or snq gr lld {r ar@ !r qYl d {Epj ql!{{6nEsR an tt
(ir) cpr qr { aH {!'4 qrrnr ftrfl r& t. ien& <i tri ar+ {6 elr i dr 3roj !d drr

c.rt t nqT E di qrd A q!=ii i 3irdR6 hq'"q f,i,Ti t lc-r@ srA qEri { srq-dr
dao ro ftoa 6 orn t

(v) rqn lri n:r i otqr rda Et ft ft4 Tt a{r d s6.r njFq dl
("i) frme+ar d cdFr d 3r:qji re t
(vii) cqr{ cIl * qRr{ qifui 3i{ sri d 6ri sEL d !.r r 3rrdr Er sq c{ s}fq re I

oyltt l

(i!)

(v)

(vii)

AII que*ioN aic conDuhdry.
Thequsrioi p.pd consisb otto quc{iois divjded i, o touss ns .A,_ ,8,. .c. ind ,D,
Se on A .oopises of im q@sioB or I Im! esl! Serion ,B, .udrprss ot ftt
queeions of2 Iuks cich. Sdrion .C.comprkes orrcn qncjins ot I mrtks er.h atut
Sectior'D conpiles ot five qEstions oa6 tuks cmh.
AUqueeions in Sedion A.m ro hj ms*ercd jn oie *od or sen,cn
Tqu 

'em-o 
orrr! queroi.

IhR i. m cd,-.re. Ho"r\.. r'er,t (ho.e hs Ee1 L"..dcd,. Jn- que{.o_, :mr\.. trre queijond ot r nrtr eah a{ rLo oucrioN J. b ,n4t. %..r you na\! ro
!ftempr only one ofrhe alrrodve in au such qusrions.
ln que$lons o. on ncrion, dnwiq sholtd b. ned md q&rl), as per rh. siven

U$ ofcalculato! n not p.mnied.
SIe fton the tult qnenion md pDcced ro ihe IBL Do nor *a$e ylr tine over i qucjion

t1l frurn over



L

( sEcTroN -'^' )

r q Enr rige di o& r€ tuifr dr ftfu fti"nd id\

to be saihficd bY q, so $ar a

cRiq ri@I ! 6I <{!6c mr{ qkdl 1

Bdonal runber ! h6 a Edinatin8 &ciEal

Lhe cDDdon ditreren.e d = -3

!(r) 6]lqdt fr @r 5F dtu\
'merapioiy 

= t' 'r rg'* m nglm ror porh@rol pll)

Find $c nunbd of z.o* of F(')

3 liqd {ft61"r 2a'z -6:+3 = 0+ {d ai rfld s]i(d1ill
i.a i," mture ofrrre oot orquadr'lic cqualion 2t2 - 6r + 3 = 0

2. frd {(cs b(,) d td\, v = D(") 6r {lF qrdi i iiq rqr t

4 {5r<r M (A.F )EI dFn r< ftfu! sqfu PJq cq ":
wrnelouihle@olAP.Nienthefidkma= 4a'd

co+ 17" + cos'z73"

r r .+6 R{r {d m d d qr-{ q{ rri' 6 {r d C aql ini ?

" 
oj.", 'iu*n-"',." ***' soPr€llelBngctrsol' ' (lrdEdc)cm'

7. liriEFllBcil{h AE l Bl ='1r l3lt cF= r sM
a d er d a,ad sra dlful
; 

'h. 
fiuu. EFIBc lrA! ' BE=4' I 

'nd 
cr- l'5 cm

ihdde;minc tne lene$orAF'

r a 4dl 6 qRftzr,F rlr: 1a' rf "ra,v d fiq= flF d"h\
" ;:. .;.--";..", 

", 
,;. 

"',.'es 
r .r nc ,iu 2 : 1. I'nd,r'. dlo or sei' 

'adir

I

res Afu i Eqlnr qlq Fm d1i\
lirllowiDg lrcquencv disarbunot bv diredr oe&od -

231 (HBH) t21



,0 !D lir,Il r,rii 6i ,i.r.i d qrli4? 1 i m atr d qftoo +r +,t ,

{ \. tt..rt...fi,,h:h,t' . nt .r1r

sr€-?
( slrcrroN 'B )

rl C'r {EiI rm Sri q(Fq 61 rl]rl - i taJll Fm nli'l

lhestrm ofx number rnd irs ftcinrccdlis-. Find Lhc numher.

u qR tJno = 1 ar 7srn,, + r."+F fl rrr rrn dfun I

lrta0tr = rl rhm fiiJ rh< \Jlu.,, 7s n'?6 + 3!us:6

i3 lird dliry fu ft{ ( r.0). rr, r) sil! t1.1)nrdq sqBdE hIIi + ${d
Pn.rh[th.poi]rs( l-0).11. l) rd(,1.1)oerhe\enicesof.nhosceldsnshransledlrirnglc.

,.es,,+aalra nt'''l 4 at .fi q{ E{ + Fqt a +- a flF.f,4 c"{ +ff,rd
uql dl dqrl2s ffdr ? ff idldqrinffiddil
A ve4.alpol.ollsgrh 6 in casbj slrdo* 4 loig on lhe grcLnd and llE s!'ne rimD a rowf
crsls i sh.dorv 28 m lons. Find lhc hcirhr or thc rdscr

is [6 qri @t f6 fi +.6r iTfl t frElifud at q< fit d qtioir ia dfu,]

A dicc is thmwn oN.. Pind rhe probabiliry olgcning

qlrql (oR)

v iA { n) fu-{6 t. l+r c{ I t 30 ffi dqr( sifun tt di rc tA it i {tr fuii {rf6-{r
ffir qrfi i d {lrd ,rfofir sft dfo fi; qs fro w oifoo dtrfr ,
(ir il ri6l d \.tr 6qr

A bor conhins l1)disc\ shicharenumbered lrom I tot0.Itone disc is dBw! ir mdom trom $e
bdr, rfrd the ptubability fial n bcas :

(i) asodisnrumbcr
(ii) a Frfecl squ c numb.r

231 (HBH) I3I furn over



tlrs-T
(sf,cTloN'c')

16 Tiaq 6, 72 3i{ Llo 4I 3lqr@ Iq46rB AD Em }ICF 3r'fr LcM Frd dfu\
Fi',d&eHCFalldLCM016.72t 120, Eing ihe prin lacroriT ior tuerhod

qqrRoR)

fu{ d1fu\ fu 3 - !G {r sqRtq i.q i
PNrhal 3 Gisan nntumlnunbcr.

3

6"'-3 - 7r rJ vtriti the tolalionshiP be(e.n

rs d{6r!ii 1- 1 = -e ,
3+1= s 616d dfu! (r + o,y+ o)

ft"a dtu{

l +.osA sinA

,1 .6 3rjqn 6a 6fu\ fu'{i tf$i1 A (1.-5) 3ik B (-'1. t dr ffi lldl rer€'B x 3$ i
fuflfun E}dr i fursr fft d FiiYlisi it n'n dfqq I

Finrl ihc nrio in uhich rhe line sesocnl ioinins A (1, 5l 'l B ( 4, sl h diridql bvthe x axi\'

Ako nnd $e coordinatcsofde Porr of'lilisiotr

,rrq{$jGdI*-r:rdsrdr6fu\1irs-dri{.{SEqi(-a,-2).(-r.-t(r'-r)3iir(2')t-I.3
Find $;e*olrhc quadritatml $hde venices brcn inorddaE ( '1 -2) {_r'-5) (r'-l)md(2-l)

ri ft$n {S,rq 6x': 3 - 7x d {{o dd dliq s,h rlq;l nln XrEi d fu i ii{q A F{dr d1

Find rhc zsroes of lhc quadflnc pol)Bomial

Temes md the coefficienc

Sclrrhccquriod:-:= 9.-l: ( r' _0./+0)

ie. fid *cl M (A.p.)ri, nlc nql 3ifr{ c< 4q{ l? 3lR 150 tl qft sri 3r e A iil isi ftdn
q< i dlr.{6l irr @rt ? 3

the list and tE Ls1 rems of o A.P are t 7 and 350 rcsDecrilclv' lf lne common diff*mce is 
''

how muy r.ms aF thac and whtl is 1hen sum ?

zo fiI€ dtu1

23't (HBH) t4t



,3 6tf fr'qr d td !i t{t d Fd M dfr} dr wpn 60, d olq q1 Tdt iil
Dav a pai! ol hghrs to a ciEle of tudius 6 cm, which are imlined ro eech orher ar fi msle of 6d.

24 s +&, 6 M oh 7 +4 1oBi lTd 16 Rgi ol .d{ dfuq Gft fr{ s6 sq ffTd d T{n diB!.

3

connrucr d uotner himg,e whose

frrqd gqr( edi S hlq d €,rd gdrii d : T4 d
Conslacr a biangle wirh sides 5 cn! 6 cn a.d 7 cm ud rhen

sids ee Zortne aE6ponding sides oftbe fi rtianste.

2r A .r{ $rfft i aBcD 14 M tfl lldr 16 .4 ? AB.c air
D dr dq qlrds ?rq ama{ {f, W r6n 6i rI! ? 6
r+6 Id dr ilq f,iit { * <} {dl s] lla 6c i rq:i
6.dr i I Eri6n qPr or rs,Ea qa dfur I

lb the girn fi€lre, AACD is a squarc of side 14 ch. Wi{r cmrs A.B.C
and D, lorr equal circles aE drawn such lhat eei cnck b@i eitehaUv r*o
oi b. 

'e 
nziojDp rRecin re. tudrb!dFrot hc chaJed Fgron

qtFI (OR)

1ir t a, s4 her $ fifr oI d< o t lqa Erqibfl qm 6, qRlrq iln
f;va src dfu qfi zeog =rzo"
In the adjoinins nsuE, O is fte .enrre ora cicte Nih Edius 42 cm. Find
rhe peinreier .nd area of rhc shaded par! ifZAOB = 1200,

tFe?
(s[clroN.D.)

26 r]6 ffi rr wn nr6 i 150 fffr dt {i f,q srff iI qfi {6 ria 5 ftd nfr Er sfto
!E sS ll,r il f6 tier sq slq +fi ffi di rrd nr( dR! I
A rr-ain trar€ts l50khara unitbm speed. ttlhc +eed tEd been 5 [mt]moE, ilvoutd havcraken
on. hour tc$ ror rhe same joumcy. Flnd rhe sp@d or Inc tBin.

Jtrrdl tORr

3'-.E,.1 . -.i ?.4rn Fl}@ t0 -Ee W rEFi ( rat "qae rtit.,- -Ia.u.J 9-,t.r. rqa .-i \s. rqat rear
mi nlr sS 6d 6]1 6ri n 3rdd nr.qr Fil.fi sru dln ?

+6 il

3m.Dind12botscanrogerhe!tnishasorkintOdr}I,wllc6mcnandjtboscantinirhiiint4
d,\. l . o r1e r.,, B(e1 h\ on- ns 1.tone n.o rh. b. ".e bo] "t,n. ro fi T.b rh, *rr

2z 16 +rTr d mm i qtlr lir srd i€r i a ffcr sh e +c{ dt d !1 furn a fu.$i n,fi.in 6
Risr d s"rri at r T{fi 6iEr ? fuE dfu ii 6.nr d ifu 6 ffzt tt
Thc tuAl6 ofclektion ofris ropofato$ertion nlo poinr, ai. dislarc.dt4)n and 9 m fion rhe
basc of rhe rosci and h lhc srDe snaiShr tine with ir fte c.flplenenlary. p.or fia{ rhe heinhr otl}c,oq.,oh
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fu, t BL 3ft cM 116 ffi61,r ltq Aac d {iMl I nxr w t'r{'lor 6l.r A*ra)q t
ftddtuitu-

4 (BL:+CMl= 5 BC:
Wh is Baudhalan Tllcoftn ?

h tiEurc, BL ud CM m nledhns of , ti.rgh AaC ridr. gled dr A.
PIor rhai C

4 (BLr+ CM) = 5 BCI

qqln (oR)

fuE mlw fu d *1r6c BIRI d M 6r aqlrfi frd n if, qrM $ 30crn or a{ dir i
asn cqh ffq 6l fln 6{i i dft :

d s:r6c hlfr] d qrft_6r( a: e i ri':qn t itfl hJq} d dr$iii ar 3Eqrd Fffi dliq
Prcw 6at the rutio of the ftN olso sinilar bidelEs is equal ro rhe qutru of rhe ratio of rhdir

Use it lo find Lhe followi.g :

Medims ofh{osimih ti gle xft inthc fttioof.l:9. Fi.dth.r{tioolfisare* oltheselrian3le.

2e Ft:iA,i J7d t: +t"d 
"E{+r i_!i.dr,{'dd_, r!F&iK{rqrt

an 3rl{rcic o] fu 12 +4 3ilr qrF 6 +6 nd !r$i i.Fr wn t fu{fl $cfi fu{r qdiidrfli
+,n Bnri$td*.{r{adm'ia{$wdttqiqrsriit 6

A contli.er lhaped like r nghl.lrculd cylindcr havins di.mcrcr 12 cn and heistt 15 cm is tull of
ice cEam, The ice cEh is to bc fillcd into cones ol heigh 12 cm atul diamerer 6 cn, having a

hennphencal shaE on the rop. Find tne ntrmber of such conos which can bc filled vilh ice ftam.

30. ftR s@ 6r rS fi Fa dlill
Find lhe modc lor {E follosins d!i! :

6
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